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GENERAL INSTRUCTIONS :
Read the following instructions very carefully and follow them :

()
(ii)
(iii)
(iv)
v)
(vi)

(vii)

This question paper contains 37 questions. All questions are compulsory.
Question paper comprises six Sections — A, B, C, D, E and F.
Section A — Question no. 1 to 20 are Multiple Choice Questions of 1 mark each.

Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2
marks each. Answer to each question should not exceed 40 words.

Section C — Question no. 25 to 29 are Short Answer Type Questions, carrying 3
marks each. Answer to each question should not exceed 60 words.

Section D — Question no. 30 to 33 are Long Answer Type Questions, carrying 5
marks each. Answer to each question should not exceed 120 words.

Section E — Question no. 34 to 36 are Case based/Source based questions with three
sub questions and are of 4 marks each.

(viii) Section F — Question no. 37 is map skill based, carrying 5 marks with two parts,

(ix)

()

32/4/2

37(i) from History (2 marks) and 37(ii) from Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice has
been provided in few questions. Only one of the choices in such questions have to be
attempted.

In addition to this, separate instructions are given with each section and question,
wherever necessary.

SECTION - A (20x1=20)
(Multiple Choice Questions)

Read the following statements about Human Development and
choose the correct option : 1

(I) It is the composite Index prepared by United Nations
Development Programme (UNDP).

(IT) Parameters to measure it are Longevity, Literacy and Per Capita
Income.

(IIT) Countries are ranked according to Developed and Low
Developing countries.

(IV) World Bank also prepares report of Human Development on the

basis of Quality of Life.
Options :
(@) TandII

(b) IIand III
(c) TandIII
(d) Iand1V

3 “E%E'ﬁ [P.T.O.



2. WA GRR 9 1991 H AR fHaHi sl 3R =4 a9/ ?

(a) =R Togeht ggr =t IR ggT o sRIeR ST TWEAT Aradt o |
(b) THR UfTaH I & 1Y =8 Y ST [T draat of |
(c) TTHR =TEd off foh R Scures foava SR # wioeast & |
(d) wwhR =mEd ot o adft 1 g -snfds =m fiet |

3. vna # frafafed gt § @ ‘wod ol 3cag § foaehl et watfie
g7

(a) wrufhes
(b) fedfiass
(c) qdrH
(d) =gd®

4., frafafea o o @ foroen wa fasa gaeis § Sgat T 8 7
(a) STHHEH

(b) =HR
(c) ¥ra
(d) =ura
5. fmfafea & @ e 3w o figm 2 7
(a) e gal - foed @ o foaee Bt 7|
(b) el Ta - St e <1 T wga oifdes Bt 2
() T= 7 - fo frceefia <R %1 9@ et 2 |
(d) wese ger - Sl e et § S e | |
6. TY-1 I A= TWH-2 ¥ HfS R T fakes &1 === Fife
W - 1 W - 2
(wwer) (33TETT)
(D S 1. @@
(1) efeRtofi 2. S-S
(I1I) 3reftepeia 3. OR-F=
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Why did the Indian government liberalize trade regulations in 1991 ?

(a)

(b)

(c)

(d)

Government wanted foreign exchange equivalent to Indian
Currency.

Government wanted to maintain good relations with Western
Countries.

Government wanted Indian producers to compete in the World
Market.

Government wanted to provide socio-economic justice to all.

Which one of the following sectors contribute highest in the GDP of
India ?

(a)
(b)
(c)
(d)

Primary
Secondary
Tertiary
Quaternary

Which of the following countries has better rank in Human
Development Index ?

(a) Afghanistan

(b) Myanmar

(¢) India

(d) Nepal

Which of the following is correctly matched ?

(a) Alluvial Soil - Consist of sand and silt

(b) Black Soil - Salt content is high

(c) Arid Soil - Diffusion of iron in crystalline

(d) Laterite Soil - Made up of Lava flows

Match the column - 1 with column - 2 and choose the correct option :
Column - 1 Column - 2
(Resources) (Example)

(I) Biological 1. Coal

(IT) Renewable 2. Wildlife

(IIT) Non-renewable

W

Solar Energy

[P.T.O.



TereReq :
I II II1
@ 1 3 2
b 3 2 1
(c) 2 3 1
@@ 1 2 3
7. TmAfafad # @ e @ 91q 1 3T R 7
(a) dm&n (b) &
(c) wieaTEe (d) Frere
8. Tr=fuifad & @ foree W g5 & gam foanm 7
(a) S de (b) wimE ufeem
(c) i Ferfer (d) IriesIet FAfim

9. SR % YaTe ¥ WA A Hewqyl o g e qd-sngfes g @ aa
Bl e | Fafafaa fosreat 8 @t et it ugem fifs -
(a) SIYR T J9T8 (b) %\ 1 YdTE
(c) TSft 1 vaTE (d) Srenfireht 1 varg

10. SARETRE 2, aRETs ¥ie 3R ufedr THEE o d@d & o FEfaiad |§
¥ 1 I8 H9H o1 7

(a) a1 o foru eafder TmmaT st | & |
(b) ufgaes & FHE W YT ST |
(c) TRl oA o R H A& L |
(d) R =t IRl TR Tadsar & fore Iwom |
11. frafafaa =t wra-sFaER et fife 3R ad faser &1 w=m i .
(D) e g
(I1) ferrmm wfy
(111 Taaar & foru ek derd
(IV) At au=a | TfE Tgarg
ferepeq -
(a) ILILIMRIV (b) L IL IR IV
(c) IV, I IIRI (d) IV, II, IR
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Options :
[ I M1
(a) 1 3 2
(b) 3 2 1
(c) 2 3 1
(d 1 2 3
7.  Which one of the following is an example of the Ferrous Metal ?
(a) Copper (b) Tin
(c) Bauxite (d) Nickel
8.  Who among the following improved the steam engine ?
(a) James Watt (b) Thomas Edison
(c) Benjamin Franklin (d) Alexander Fleming

9. There were three important developments that greatly shrank the
pre-modern world. Identify the incorrect one from the following

options :
(a) The flow of trade (b) The flow of labour
(c) The flow of capital (d) The flow of technology

10. Which one of the following aspects was common among the writings
of Kailashbashini Debi, Tarabai Shinde and Pandita Ramabai ?

(a) Demanded economic equality for masses.
(b) Highlighted the experiences of women.
(c) Raised awareness about cultural heritage.
(d) Motivated Indians for their national freedom.
11.  Arrange the following in chronological order and choose the correct
option :
(I) Napoleonic wars
(IT) The Treaty of Vienna
(IIT) Greek Struggle for Independence

(IV) Slav Nationalism in Ottoman Empire
Options :
(a) L II, Iand IV (b) L II Il and IV

(c) IV, 1L, IIandI (d IV,IL I andI
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frafafga 4 @ form 2o ° fg-acfia sgawean 2 2
(a) =M (b) &=
(c) A (d) ¥ra

T H & TS TEPI hl FERAl § AR WHR h YN STaEAqT i
g hifore 3R T&l foshew w1 ==F Hifsu .

1. g 3R TIH GGrl & o= wftw H feted |

2. TSA GTHN I 3 A1 FS AT 3T TSR HIS H Sl ATavehal
Bl 2 |

3. 38 F-wall" 9TR Fer 9 2 |

fererea -
(a) dHERITE FaEA
(b) UHICHS THT FEEAT

(c) forhrdiora saEen
(d) FHSIEE HTEdT

WY - A o1 T w9 - B ¥ hifve 3R 921 faereg o1 == hifse

wWH - A WY - B
(Terrar) (w=h)
(I 5 1. wwad geh
(1) =iy 2. g
(I11) fereqm 3. TS
(IV) 4, rafys fowg
Terepea -
I I I IV
(@ 4 3 1 2
b 3 4 1 2
¢ 2 3 1 4
d 4 2 1 3
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Which one of the following countries has two party system ? 1
(a) China (b) Russia
(c) America (d) India

Identify the administrative level of Indian Government with the help
of the information given in the box and choose the correct option : 1

1. Power shared between Central to Local Government.

2. The State Governments are required to share some powers and
revenue with them.

3. Itis called a three tier government.

Options :

(a) Dictatorial System

(b) Unitary Federal System
(c) Decentralized System

(d) Imperialistic System

Match column — A with column — B and choose the correct option : 1
Column — A Column - B
(Subjects) (List)

(I) Banks 1. Concurrent List

(II) Agriculture 2. Union List

(III) Education 3. State List

(IV) Computer 4. Residuary Subjects

Options :

[ I mar 1

(a) 4 3 1 2

(b) 3 4 1 2

(c) 2 3 1 4

(d) 4 2 1 3

9 “E%E'z [P.T.O.



15. = few o e # 2 sk, Stfike (A) 3t s (R) few e ¥ | et el
gfeu 3 Tel fashed =1 = 9q Hif
atfrmer (A) : sfici 3 afe’ 1 TsT ) T e W % w9
YA |
ROt (R) : ATt il TLHR 3 TEEEIRITE & q&d HS heH 33TT |
‘EIWC[:
(a) (A) 3R (R) gHI &1 & 3R (R), (A) 1 &&l =g B |
(b) (A) 3 (R) gl @&l € wg (R), (A) 1 Tl =amen =2 2 |
() (A) @ g dfer (R) 7o B |
(d) (A) o @ AfFT (R) @81 2 |

16. T & SeaRr ¥ wafed feferfad sudi W foem Hifse i ot fowew &
=T Fifsu
(I) SEEAFATG AhAa i ARl T ¢ |
(I1) == fafym Tl § d9qeH 3R AHs 4141 2 |
(I11) =1 |THTISTh Tl % s §o <hl GUTEAT Sl HH T ¢ |
(IV) == sl TTgier oAlshds 1 |1 8 |
fereeu -
(a) I, I eI
(b) 1II, HI s3IV
(c) LIIsRIV
(d) LRIV

17. fr=fefaa @ & S gm gafeq 8 ?

(a) waftek &5k - el ol Wl S ara
(b) Tefrres &= - gy faskan
(c) qdas &7 - WGHAW
(d) fofmiorgmer - wed
18. fr=fafga 4 @ wsr@™i & wftent & faa o1 = T deg g 7
(a) &R o (b) ER THATH
(c) =M = ifere we (d) il s s
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15. Two statements are given below as Assertion (A) and Reason (R).

Read the statements and choose the correct option : 1
Assertion (A) : Sri Lanka adopted ‘Tamil’ as the official language of
the State.
Reason (R) : The Govt. of Sri Lanka adopted a series of majoritarian
measures.
Options :
(a) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation
of (A).

(c¢) (A) istrue but (R) is false.
(d) (A) is false but (R) is true.

16. Consider the following statements on Power Sharing and choose the
correct option : 1

(I) Majoritarianism is the real spirit of democracy.

(IT) It creates balance and harmony in different groups.

(IIT) It reduces the possibility of conflict among social groups.
(IV) Power sharing is the essence of democracy.

Options :

(@) I, ITandIII

(b) II, I and IV

(c) L IIandIV

(d) I, ITand IV

17. Which one of the following pairs is correctly matched ? 1
(a) Primary Sector - Flower Cultivator
(b) Secondary Sector - Milk Vendor
(c) Tertiary Sector - Fisherman
(d) Manufacturing Sector - Gardener

18. Which one of the following is a developmental goal of the factory

workers ? 1
(a) Better wages (b) Better technology
(c) More hours of work (d) More labour work

[=]:%[m]
32/4/2 11 “m‘éﬁ [P.T.O.



19.

20.

21.

22.

23.

24.

25.

32/4/2

FrfaRaa st 1 ufer X = T v 1 3 fefaw 1
FIATOTT, T 3R forgR & 3 et 3Tehs
T Py ag = AeRaT R | Tae sufeurfa siquma
gfd g9R =ik % gfd 100 =afh
g 30 82 61
A 7 94 83
firem 32 62 43
g @ fae sTqufeafd Tqura fohat 8 ? T8t faehed o1 == ShifSe
(@ 39 (b) 27
(c) 38 (d 18
fova o srfereRar @ fore YR Sl ALK B UG R & 7 1
(a) SAHAI (b) &=
(c) dmTIE (d) o emenfa
T uE - &
(erfe g -3 W) (4x2=8)
(A) 19 wraredt 4 ufvet oo gU ol & afadHl 1 oo i | 2
arera
(B) =g =R I 8 qd ok we & foredl g1 ol 1 Seora I | 2
*“ SfrerieRor 3T wEdiehr " -my weld § 17 T8 Hife | 2
‘TR T # Afeee fafie ol @ dewra @ a1t 81 TRl
Tl 6l =mEaT FHifs | 2
“ITeT-STT A o faeT & ey e B TeRd g1 3 % 1Y 39
e sl iy Hifs | 2
Qug - T
(erg -3l u9) (5%3=15)
HEE At % offe aMfed geEE At 9EAr U9 e fow wifE
SIfeRTIl g & foht T fohegl o9 ST =1 i hife | 3
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Read the following data and answer the question that follow :

Some comparative Data on Haryana,
Kerala and Bihar

State Infant Literacy Net Attendance
Mortality Rate Rate % Ratio (per
(per thousand 100 person)

person)
Haryana 30 82 61
Kerala 7 94 83
Bihar 32 62 43

How much is the Net Absence Ratio of Haryana ? Choose the
appropriate option from the following :

(@ 39 (b) 27
() 38 (d) 18

Which type of government is likely to be more acceptable to the
people in the world ?

(a) Democratic (b) Military
(c) Dictatorship (d) Theocratic
SECTION - B

(Very Short Answer Questions)

(A) Mention any two changes that occurred in West Punjab in the
19" century.
OR
(B) Mention any two advantages of the Silk route in the pre-
modern trade.

“‘Industrialisation and Urbanisation go hand in hand.”” Explain.

“Women face discrimination in various ways in our society.” Explain
any two ways.

“Different persons can have different developmental goals.” Support
the statement with an example.

SECTION - C
(Short Answer Questions)

Describe any three measures that were introduced by the French
revolutionaries to create a sense of collective identity amongst the
French people.

[=]3%[E]
13 E%é

(4x2=8)

(5x3=15)
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26. g1 Srenfiehl, JvefteRtor @ foRm yehR @ € R 7 =men i | 3

27. YRdE FN o fae@ & fau feg U freel 9 HEama gumrl R e
HIT | 3
28. YA Arhad H T gl St et i sme fifvw | 3
29. (A) Gifed & § M A Tl A ! e aTel Al s wE st | 3

arera

(B) w@ #Hifvu o ow & onfdes faem o ‘gdwfe &9 FA drem

HET 7 7 3
@Ug - b

(el -3wdar ) (4x5=20)

30. (A) ‘miefsh 9 Raeied wwel # R-guewEl Bl Th Thishd T
MG i BABET § A o IR % ®9 ° FAwa Frar | 37 e

1 gfg <hife | 5
Jrera
(B) ‘afaTa sras oAigie’ | nfgenest €t arfierdt it samen fifv | 5
31. (A) YRd H Uss uiasd st gmenadi =1 faveiyor $if | 5
Jrera
(B) ‘9T a1 o |mETiereh-3ide Sfted bl serer ot 71 39 hed
i @ hIfT | 5
32. (A) Tmior Srofeedl H T WErEdl gl ohl e Sl =TT 38U | 5
Jrera
(B) “‘o%d wd AW % TR Hl ¥ o T o fore eifa srmeves 21
TH YA I FAFETT 3gTH | 5

33. (A) ‘‘=afh F T SR THET B SerEr ¢ H oiehas fRE oft 31 TR

1 TR} ¥ 9gd JgA 2 17 qol o W1d w1 g FifS 5
SrerET
(B) ‘‘<irehad H IwgrRfl, TR 3R 99 TR #1 Ted a1 717 dehi
T FF <l gfE Hif | 5
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How is information technology connected with globalization ?
Explain.

Explain any three institutional reforms taken for the development of
Indian agriculture.

Explain the role of Regional Parties in Indian democracy.

A)

(B)

A)

(B)

A)

(B)

(A)

(B)

(A)

(B)

Examine the benefits that are enjoyed by the people working in
the organized sector.

OR

Examine how ‘Public Sector’ contributes in the economic
development of the nation ?

SECTION -D
(Long Answer Questions)

““Gandhiji felt the Khilafat issue as an opportunity to bring
Hindus and Muslims under the umbrella of a unified national
movement.”” Explain the statement.

OR

Explain the participation of women in the ‘Civil Disobedience
Movement’.

Analyse the problems of Road Transport in India.
OR

‘Railways in India promotes the socio-economic life of the
country.” Examine the statement.

Justify the role of ‘Self Help Groups’ in the rural economy.
OR

“Cheap and affordable credit is crucial for the country’s
development.” Justify the statement.

“Democracy stands much superior to any other forms of
governments in promoting dignity and freedom of the
individual.” Support the statement with arguments.

OR

“Democracy produces an accountable, responsive and legitimate
government.” Support the statement with arguments.

15 &2
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T UE -
(e amuTiea /= STeTia T99)

fau U =ra = ufeu 3R = fou goat o s feifau -
WA ht vt fafeear

Id H foraft wmTd & 7 3HeR Same 59 a1q W e owar @ TR st symmen
i fiFdht fore 8 itd 81 30 91 § AfUshd Fad g1 2011 I S0FT
% 3ATehel U IS Bt 8 | 8 STOFT | &AW 3 1300 § SATET ST -3
WIWISTl %1 3O AIGHTT o &9 H q5 1 91| 31 9ISt ol S T
TSIl o WY TEeg G ST 21 W - Wegd, wefi, goeraEe,
FAET, TIEA T Ut & gl st i f&dt & eiet Shg form Sram 2
UH TEEgal o 916 H ST H 121 Y@ |9 UTE TS | $H 8 22 wTisdi
! WA Giem 6t oTedt STgget § @ ™ 7 iR 3 FR0 3 Iy
YTSTC gl ST & | STl ol TR-3Tg(d 99T gd & | 9T o e & 9na
i 1 Hvad: Ted e fafererar aren 2w R |

() 9ra ® 9rft fafaean & age o w9 Hifvw |

(1) gfaa iR R-Tqgfad wmwrsti § Fat Ty Hife |

(IIT) ‘“9T1eTi & GAISH 3 <N 1 Th HIGhideh gh1s H Uehale fha1 21 39
o I IeTer gigd sare i |

fou o gta =t ufgu 3 e fou aet & s forfae

FEER T ?
qO1 % FOMS PR AUTE AUET R Uk TR e @Ted |, o
g feoeedt i qam I wal g e W | TEH G
SERNFTAT, SFTHe ST=wol & TrEn Wih-fown, wifewsh!, R, @ %
fafie feedt & IR § AR W, 3R ToFhd W WEGR W IR ...
UY qHH S 8 Heg R TEI0T ol Hded 8, S I & T8N T FHhedaTT 5
Tgh el
it SAUTE TS PINA, 6 T, 1849
TH STEER AR TSHIfTR TSl I FE fHeRT il 7, S SIS % gIsd
A® w4 foauer i gt 71 e T a7 it fifaai i sreeees
THfiedt X, AN o fed d1em o 1w fEemi 1 feped SR gur Y, aur 3!
ISt & AT B BT B R
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SECTION - E
(Case Based/Source Based Questions)

Read the given source and answer the questions that follow :

Language Diversity of India

How many languages do we have in India ? The answer depends on
how one counts it. The latest information that we have is from the
Census of India held in 2011. This census recorded more than 1300
distinct languages which people mentioned as their mother tongues.
These languages were grouped together under some major languages.
For example languages like Bhojpuri, Magadhi, Bundelkhandi,
Chhattisgarhi, Rajasthani and many others were grouped together
under ‘Hindi’. Even after this grouping, the Census found 121 major
languages. Of these 22 languages are now included in the Eighth
Schedule of the Indian Constitution and are therefore called
‘Scheduled Languages’. Others are called ‘Non-Scheduled
Languages’. In terms of languages, India is perhaps the most diverse
country in the world.

(I)  Explain the importance of language diversity in India.

(IT) Differentiate  between  Scheduled and  Non-Scheduled
Languages.

(IIT) “The fusion of languages has united the country into one cultural
entity.” Explain the statement with an example.

Read the given source and answer the questions that follow :
WHY NEWSPAPERS ?

‘Krishnaji Trimbuck Ranade inhabitant of Poona intends to publish a
Newspaper in the Marathi Language with a view of affording useful
information on every topic of local interest. It will be open for free
discussion on subjects of general utility, scientific investigation and
the speculations connected with the antiquities, statistics, curiosities,
history and geography of the country and of the Deccan especially...
the patronage and support of all interested in the diffusion of
knowledge and Welfare of the People is earnestly solicited.’

Bombay Telegraph and Courier, 6 January, 1849

‘The task of the native newspapers and political associations is
identical to the role of the Opposition in the House of Commons in
Parliament in England. That is of critically examining government
policy to suggest improvements, by removing those parts that will not
be to the benefit of the people, and also by ensuring speedy
implementation.
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T [Tl I =1fEe foF 3 <9 % W™ gEl W AT atE H I S R IR
FIT HYE 3TN FfSd IR &, I8 a1, 7 HT bl ! SFH FI |

T snifafa=m, 3 318, 1870

(I) TSGR THTER-9S YeRIRIG i o &I R0 i T8 IR |

(1) T FHER-13 3R TSHifde @9 o il w1 faus S qften & a9
Y @1 T ?

(IIT) 195 SrATedl % G AHER-YAT i TR o HROT 1 fITiwor
HITSTT |

fau o wa =1 afeu ok A= fou uvt & sw fofau:
YT ST TUZUT

Fgd ¥ AT A1 AT ¢ o Sg3e qRASHIS o STy e 3 37 W
33 faamel & =cld Iuieiel TURl O 3ok AT —3TTfeh 3T uriifesfaes i
R FFgTd faehcd 8 Thd 8 | WA ARG | 3chE Std ol o Jner-|re
S TR e ff 9Te ST 9| @R s At ughd ST e % i % R
TEU M ATl I T uiftufodle offeufent et SR S@
ATIHAAR Iuioied, S, 96 I R 91 T GURU o ek aleh
forpfira o foIw & | wgrEt o uddr &t & ANt 3 T’ SAvEn ‘Fo (afvet
TeuTera) St anfgerTd, 7€t it g 1 U1 SeaeR Wdl | g & fore e
2| ufvert 9, fomwe o™ § I 1 9 Thid i & fau ‘Sd ant
e HUEOT T kT AW o7 | UfTem st | o1g o e | @ AU Wdi ht
=g & fou a1g STt anfeahrd sHTd 9 | 3ok ofR Ty &t H @t § ot
A TR A o T 78S A1 S0 & aTfeh a1 ol ffoa foram S @eh 1R
TUd T o Wl & oI Iu=T 0 AR S Gk | TSR o el e |
WM R HA &l H SIgg 39 3QTEI § |

(I) <t "= oTTel! Ueh g forehed 1 8 ?
(II) ‘Ba 3wl 9 "ueur i fRaT 1 JuH hHifT |

(IIT) et TREmr 3 Fore s e & ot el 3 bR @ 3eor
T |
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These associations ought to carefully study the particular issues,
gather diverse relevant information on the nation as well as on what
are the possible and desirable improvements, and this will surely earn
it considerable influence.’

Native Opinion, 3 April, 1870

(I)  Explain the main reason of publishing newspaper by Krishnaji ?

(I) How was the task of native newspaper and political association
seen identical to the role of opposition ?

(IlI) Analyze the reasons of popularity of newspapers during 19"
century.

Read the given source and answer the questions that follow :
RAINWATER HARVESTING

Many thought that given the disadvantages and rising resistance
against the multi purpose projects, water harvesting system was a
viable alternative, both socio-economically and environmentally. In
ancient India, along with the sophisticated hydraulic structures, there
existed an extraordinary tradition of water harvesting system. People
had in-depth knowledge of rainfall regimes and soil types and
developed wide ranging techniques to harvest rainwater,
groundwater, river water and flood water in keeping with the local
ecological conditions and their water needs. In hill and mountainous
regions, people built diversion channels like the ‘guls’ or ‘kuls’ of the
Western Himalayas for agriculture. ‘Rooftop rainwater harvesting’
was commonly practised to store drinking water, particularly in
Rajasthan. In the flood plains of Bengal, people developed inundation
channels to irrigate their fields. In arid and semi-arid regions,
agricultural fields were converted into rain fed storage structures that
allowed the water to stand and moisten the soil like the ‘khadins’ in
Jaisalmer and ‘Johads’ in other parts of Rajasthan.

(I)  Why is water harvesting system a viable alternative ?
(IT) Describe the process of ‘rooftop rainwater harvesting.’

(IIT) Mention any two methods adopted by ancient India for water
conservation.

19 &2
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e : ffefaa woa e givanfeim wdhenfoat & fom wom d@war 37 & wom

s -«
(wmfr ST smeTia a9)

(i) vra & fou T veHifas er-umfas wog Tl A i B @t sifRa

foram o 21 3% @ T IEEM I GERE ¥ UgETHT 3R I g™

i 78 [EeT W 39 gl W fafgu |

(a) 98 TIF @l Hered meft 3 A H et FA A fhaE % fag

TR & foharm o |

(b) & TIF V& YRAE T &0 &1 fgmmr, 1920 § SAfeyH

B3I

(il) wRa & gt War-uHtE W it 8 @ 5 & 5 sugs el |

aqigd 3R 36 =1 fafay
(a) fegtt =g

(b) T A Tt By

(c) YOI TIFAIAL THFTATS TTeh
(d) =foean a9 T

WwE|

(1)

(i)

(iii)

(iv)

)
(vi)

32/4/2

39 T 1 AW fafg, s wyidiE agia wie w6 fiaer, 1920 7 Afewe

g |

39 TN &1 W fafgu, SEf qgrean meft 3 fid f gdt w0 9o R+

o T g% forar o |

39 Ug 1 A faRaw, st a0 s a9 foud 7

34 U9 1 9 fafge, st fegh sy fova 21

34 TsF o1 AW TR, Sl ga8 aidecst Saiaist e oo 7 |

39 U9 &1 AW faRa, set sfeean g oo foom 7

20 &2
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EI.
SECTION - F
(Map Skill Based Questions) (2+3=5)

37. (1) Two places A and B have been marked on the given political
outline map of India. Identify them with the help of given
information and write their correct names on the lines drawn
near them.

(a) The place where Mahatma Gandhi started Satyagraha for
Indigo peasants. 1

(b) The place where the session of Indian National Congress
held in December, 1920. 1

(i1)) On the same outline map of India locate and label any three of
the following with suitable symbols :

(a) Tehri Dam

(b) Naraura Atomic Power Station
(c) Pune Software Technology Park
(d) Haldia Sea Port

ke ek

Note : The following questions are only for the Visually Impaired
Candidates in lieu of question no. 37. (5x1=5)

ATTEMPT ANY FIVE :

(i) Name the place where the session of Indian National Congress was

held in December, 1920. 1
(1) Name the place where Mahatma Gandhi started Satyagraha for Indigo

peasants. 1
(111) Name the State where Naraura Nuclear Plant is located. 1
(iv) Name the State where Tehri Dam is located. 1
(v) Name the State where Mumbai Software Technology Park is located. 1
(vi) Name the State where Haldia Sea Port is located. 1

32/4/2 21 “E%E'z [P.T.O.
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Iy . 37 & foTe wAf=
Map for Q. No. 37
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